
Ottoman Storage Bed

             (Full / Queen)

Care & Instruction Manual

Please read and retain these instructions for future

reference

STOCK CODES : JWKJ3002-F (Full)

                           : JWKJ3002-Q (Queen)

IMPORTED BY FORWARD INDUSTRIES, 33401, USA

 Issue 1 - 03/09/20



2

Safety and Care Advice

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY.

   Keep children and animals
away from the work area, small
parts could choke if swallowed.

   Make sure you have enough
space to layout the parts before
starting.

   This product has been
constructed to be used in the
domestic environment only and
not for commercial purposes.

Care and maintenance

   Only clean using a damp cloth
and mild detergent. Do not use
abrasive cleaners.

   Use a dry cloth to clean the
product, furniture polish is
not recommended.

   Assemble the item as close
to its final position (in the same
room) as possible.

   Assemble on a soft level
surface to avoid damaging the
unit or your floor.

                          We do not
                       recommend the
                       use of power
                       drill/drivers for
                       inserting screws
as this could damage the unit.
Only use hand screwdrivers.

    Parts of the assembly will be
easier with 2 people.

    Dispose of all packaging
carefully and responsibly.

   From time to time check that there
are no loose screws, nuts or bolts.
If there are please re-tighten.

   This product should not be
discarded with household
waste.Take to your local
authority waste disposal
centre.

Important Ottoman Safety Warnings

   Caution.This bed uses a pressurised mechanism.
   Use caution when operating - Always use two hands at arm’s length, and only where illustrated on the
product.
   You must ensure the mattress is on the bed frame before lifting the mechanism - Failure to do  so may
result in injury.
   Please ensure Children and pets are kept away from the bed when operating the bed mechanism.
   If removing the mattress, make sure that the frame is secured as it could flip open.
   Only use the storage compartment when when the frame is fully raised in the ‘up’ position.
   No children or animals are left unattended when the frame is in the ‘up’ position.
   Do not remain on the bed whilst the lifting mechanism is in use.
   Beware of Entrapment - Keep both hands clear of mechanism when operating the mechanism.
   When lifting the bed remove all bedding - Except the fitted sheet.

ENSURE MATTRESS IS ON

BEFORE LIFTING

DON'T LIFT WITHOUT MATTRESS



Please check you have all the parts listed below

Main Components

3

1

3 4

5 6

7 8

9 10

INSIDE INSIDE

INSIDE

INSIDE

Side Rail (Right) Headboard End
(4'6-38 × 12.5in)(5'-40.1 × 12.5in)

Side Rail (Left) Headboard End
(4'6-38 × 12.5in)(5'-40.1 × 12.5in)

Headboard (4'6-57 × 38.9in)
(5'-63 × 38.9in)

Footboard (4'6-57 × 12in)
(5'-63 × 12in)

Hinge Mechanism (x 1 pair)
NOTE: PISTON ATTACHED

Fabric base x 1 (4'6-77.1 ×55.9in)
(5'-81.5 × 61.8in)

Ottoman end frame (Headboard) x 1
(4'6-53.6 × 3.3in)(5'-59.5 × 3.3in)
NOTE: EXTRA HOLES

Ottoman end frame (Footboard) x 1
(4'6-53.6 × 3.3in)(5'-59.5 × 3.3in)

Ottoman frame centre support
Headboard End x 1
(4'6/5'-35.2 x 1.1in)
NOTE: EXTRA HOLES

2

INSIDE

INSIDE

11 12 Ottoman frame centre support
Footboard End x 1
(4'6/5'-40.3 x 1.1in)

Side Rail (Right) Footboard End
(4'6-38 × 12.5in)(5'-40.1 × 12.5in)

Side Rail (Left) Footboard End
(4'6-38 × 12.5in)(5'-40.1 × 12.5in)

For missing or damaged parts, call our Customer Helpline: (561) 465-0030, option 0. or

email customerservice@forwardindustries.com.

.



Double slat caps x 14 (4'6-2.16in)
Double slat caps x 15 (5'-2.16in)

Single slat caps x 28 (4'6-2.16in)
Single slat caps x 30 (5'-2.16in)

Bentwood slats x 28 (4'6-26.5 x 0.35 x 2in)
Bentwood slats x 30 (5'-29.5 x 0.35 x 2in)

13

Mattress support bracket x 2Stretcher x 1 (4'6-54.7 × 0.98in)
(5'-60.8 × 0.98in)

Ottoman frame (Sides Left)
Headboard End x 1
(4'6/5'-40.3 x 1.1in)
NOTE: EXTRA HOLES

Ottoman frame (Sides Left)
Footboard End x 1
(4'6/5'-35.2 x 1.1in)

Ottoman frame (Sides Right)
Headboard End x 1
(4'6/5'-40.3 x 1.1in)
NOTE: EXTRA HOLES

Ottoman frame (Sides Right) x 1
Footboard End x 1
(4'6/5'-35.2 x 1.1in)

Connecting Bracket
(Ottoman Frame Sides) x 2
(11 x 1.1 x 1.1in)

Ottoman frame support x 1
(5.11 × 1.18in)

Support Leg (U Shape) x 1 (0.98 × 7.87in)

Support Leg (Flat) x 1 (0.98 × 7.87in) Foot x 4 (∅0.13 × 0.59in)

Connecting Plate (Side Rails) x 4
(1.57 × 3.54in)

14

15 16

17 18

19 20

21 22

23 24

25 26

27

Please check you have all the parts listed below

Main Components

4

For missing or damaged parts, call our Customer Helpline: (561) 465-0030, option 0. or

email customerservice@forwardindustries.com.

.



Please check you have all the fittings listed below

Note:  The quantities below are the correct amount to complete the assembly. In some cases more

fittings may be supplied than are required.

M8 Nut Qty 6

B C

D E F

(0.66in) M8 Flat washer Qty 66

A

F

G

(1.77in) M8 Bolt Qty 8

(0.47in) M8 Spring washer Qty 32 M5 Allen key Qty 1

Spanner Qty 1

H

(1.18in) M4 Screws Qty 4

Fixings, Fittings And Tools

5

J

(1.18in) M8 Bolt Qty 22(0.98in) M8 Bolt Qty 36

(1.77in) M4 Screws Qty 4

Box spanner Qty 1

K L

For missing or damaged parts, call our Customer Helpline: (561) 465-0030, option 0. or

email customerservice@forwardindustries.com.

.



Step 1

Step 2

B

F

G

B

C

F

23
2

C

F

2

1

23

F

G

Leave screws loose

Ensure surface is protected to
prevent marking.

Prepare headboard
and Footboard.

Assemble support.

B G F

J

C F J

x 12 x 12 x 12

x 2 x 2 x 1

Assembly Steps

6



Step 4

Assembly Steps

Footboard End

7

Step 3

Do not fully tighten fixings!

Holes at

headboard end

3

4

5

6

1

2

1

3

3

4

5

6

F

G

A

27

Loosely assemble bed
frame.

Two people will be
required.

Headboard End

A G Fx 8 x 8 x 8 J x 1

J

Two people required

Connect side rails using
connecting plates  27 .

Repeat for both side rails.

J

J x 1

F

G

A

4
3

27



Step 6

Assembly Steps

8

Step 5

17

17

E

8

E

Two people required

Ensure frame is square

Assemble stretcher.

Ensure frame is square.

Tighten all fixings before
proceeding to step 6.

Fit fabric base using velcro
strips.

Two people required to
carefully  turn the frame.

E x 4



9

Assembly Steps

26

D

B
F

26
D

B

F

7

7

Step 7

Step 8

Assemble feet.

NOTE: Pistons are
pre-assembled

Assemble ottoman hinge
mechanisms.

      The hinges will move.

Beware of entrapment!

D x 4

J

B F Jx 10 x 10 x 1



Assembly Steps

10

Shown upside down

Shown upside down

F

A

F

A

F

A
F

A

24

25

24

25

11

12

12

11

11

F
A

F

A

19
19

13

14
15

16

A

F

Holes on inside

13

14

Step 9

Step 10

Assemble ottoman frame
sides.

Assemble ottoman frame
centre support and legs.

Support legs  24  and  25
are different.

Headboard End

F Jx 4 x 1A x 4

J

J

J

F Jx 8 x 1A x 8

extra holes
headboard end

A
F

19



11

Assembly Steps

Holes at
headboard end

Holes at
headboard end

Legs this
end

Headboard end

Extra holes

Footboard end
Shown upside down

Headboard end

A
F

18

A
F

9

10

18

F

G

A

F

G

A

9

10

13

14

15

16

11

12

Step 12

Step 11
J

J

Complete ottoman frame
assembly.

Turn ottoman frame over
and assemble mattress
support brackets.

Two people will be
required.

A G Fx 12 x 12 x12 J x 1

F Jx 4 x 1A x 4

Two people required



12

Assembly Steps

UP

Beware of risk of entrapment
from folding hinges!

Important: Two people required.
Frame to be fully supported at
all times!

Ensure frame is square

Nut pre-assembled

9

10

3 F

C

H

15

3

6

3

7

Step 14

Step 13

J

Two people required

K

C Fx 6 x 6 J x 1 K x 1H x 6

Connect the pistons.

      The frame must be
fully supported at all times.

Two people will be
required.

C
F

Ensure the bed frame is
square.

With help, assemble
ottoman frame to hinge
mechanisms.

      The mechanisms will
move. Beware of
entrapment.

K x 1

H



Fit plastic slat caps and
bentwood slats.

Ensure slat caps are
properly engaged into
the holes.

13

Assembly Steps

a:

b:

20
22

c:

12

21
20

Slats to arch upwards

22

20

2222

22

22

20

20

21 2020

21

3 45 6
11 12

Step 15

12



14

lf you have questions regarding the operation of your purchase, or in the unlikely event you need to return the
unit because it is faulty or is no longer wanted, please contact our product returns department at
customerservice@forwardindustries.com, or 561-465-0030,Option 0.

Address: Forward Industries,105 South Narcissus Avenue Suite 412, West Palm Beach, FL 33401

After Sales Support / Product Returns


